EARAROBREBRT —5 XN—ZXBISH—F

20224098208 (X)) 12EHAE2H

méﬂg C1 YSR4mE BRI
[xE€] 1%&:370,000H  23&:118,000M  3#&:67,000H  43%&:44,000H 5 3&:30,000H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
=~ t 6 | TS 1:31.9 1-1-1-1 39.7| - 4 468 | FEBH (E8)
1110113Y9Y 54.0 =) () | SEET
R:ZI—UvITO—R B:FIWINVTH Il fr—
S O : -2-2- - REM (&)
2 6| UYAY Y RY i 6 H 1.(332).5 2-2-2-2 | 40.2 2 fsf; ﬁLrEﬂﬁ
RiUwANTIYF B:UvAUALTTIL— BH F
== it 4 B 1:32.6 5-4-3-3 | 40.0| - 1 M4 | WEBEA (58
3|55 | YT3SFa” 54.0 1/2) (13) | HAAEA
RJUITURL BYZ—FAHUT— #BT7—L
o i) : -5-5- - =NEEAN (BB
4lg| g | TIORBYR i 4 A:Sx;.o 1.(3{;4).1 4-5-5-5 | 41.0 3 ?+528) = =
RiTFRIAVL—Y B:FE—LURATR RS
= t 4 | BEE—E 1:34.3 3-3-4-4 |M.7| - 8 442 | )IIBEF (E8)
5077 |XAST7 54. M (3 |HEBET "
RTSATVI— B:RV4—KUA5Z EvIUy RI7—L4
> - 4 | IS 1:34.3 7-8-8-6 |39.7| — 6 464 | RBAX (E8)
e 4| RUVINFITS R e 2
RNV vH—)L B:T7U—-RF BHE R
Sy 45 | REEC 1:34.4 6-6-6-7 |40.7| — 5 503 | BEHE ({£E)
7 3| TRY—=v0O 5%.0 (172) (-3) |JVBEZ
R:I7—IUTPY BZVITA s
. 7 | SAKES 1:34.6 8-7-7-8 | 40.4| - 7 500 |REZE (£&)
8 ) | R—bTrUwF it 56.0 (3/4) @) | ® J P N3
RIN—VISA 7 RIAVTLY J—YUT7—L
@ 11— —BBIEfI
13—3F— 1,6,7,8,5,3,4,2
20— — 1,6,7,5,8,3,2,4
3J0—7F— |[1,6,5,7,8,3,2,4
43— — 1,6,5,7,8,4,3,2
o ILRE
B B 1 810M4 JA R 1-6 350 B E 1-6 1,260 3EE 1-5-6 640M4
7B B 1 130 1=5 210/ =51 1-6 2,370H 3EH 1-6-5 6,330
6 140 5-6 210
5 120

ABIC OV TRUTEREERRODDZE. THRIIZEL.




